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QUESTION BOOKLET: SET-I

WEST BENGAL STATE UNIVERSITY
B.A. (Honours, Major, General) PART-I Examinations, 2016

ENVIRONMENTAL STUDIES

(FOR ARTS CANDIDATES)
Time Allotted: 2 Hours : Full Marks: 50

Llnstruction 4 ﬁtﬁ"‘lﬂfﬂ :

The candidate should indicate the correct Roll Number, Registration Number, Question Booklet
Set on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the candidate will
be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble
on the Answer-Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If
more than one answer / option is found darkened, then the question will be treated wrong and will not be
evaluated.

Example : @ OOO

Answer all the questions: 2x25=50
e e Ted fre:

= World Environment Day is observed each year on
o ifice ot & <=z Traifre o
(A) 22™ April / 33 @féte (B) 5™ July / ¢2 &3
(C) 5" June / €2 T | (D) 10 March / 50% 315

2. Which one of the following creates acid rain?
ea @G =ifie 3 wrer

(A) Water pollution / &@Tgaei (B) Air pollution / A17et
(C) Noise pollution / *xwze (D) Land pollution / ©f3 et
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3. The lowest layer of the atmosphere is
YNGR I & 2 :
(A) Exosphere / at@ifeaa (B) Mesosphere / (A=
(C) Troposphere / =gtz (D) Stratosphere / ZibiFFma
4. Mangroves are found in
TS S SN
(A) Arunachal Pradesh / S=Fe5%T &iTar=! (B) Sundarban / "33t
(C) Himalaya / fBtieTca (D) Western Ghat / #%¥ 91t6
5 The novel ‘Aranyer Adhikar’ is written by
SRR SEPI ST F6AS! 2T
(A) Mahasweta Devi / S=IC8t (w3t
(B) Bibhuti Bhushan Bandyopadhyay / Rgfeg®a acwistign
(C) Buddhadeb Guha / J&79 @
(D) Manik Bandyopadhyay / Sifa< Icmi=iiepa
6. The deficiency of which vitamin is responsible for Blindness?
I febiftR wreia ey et oy - A
(A) Vitamin-A / fS5ifi=-9q (B) Vitamin-B / fe5ifi=-}
(C) Vitamin-D / feoifi-f& (D) Vitamin-E / febifi=-3
- & The legally binding international agreement to reduce Greenhouse gases by 5% is

I WO RREC Mo 31157 5% -4 FTH w1 e 727 LAY
(A) Vienna Convention / fSG™! Fwremia

(B) Montreal Protocol / =8 (2ithreser

(C) Kyoto Protocol / Rtaitht centoreeet

(D) Copenhagen Protocol / (RIToIwIRLaw (eiehreet
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10.

11.

12.

1211

Ganga Action Plan is implemented in

N SPIFH 2T OF 2

(A) 1981 (B) 1985

(C) 1991 (D) 2001

Which state was ‘Chipko Movement’ happened?

it STwie’ i AlCey ThiReT?

(A) West Bengal / #f%s=% (B) Karnataka / o

(C) Bihar / R (D) Uttar Pradesh / T&3 &itn

A combination of smoke, fog and chemical pollutants seen in industrial cities is known
as

T oiftefeTe i, Famt g aeElee e Amidefem Wil 2

(A) Sol / 7= (B) Smog / 7
(C) Fall out / & SIITH (D) Gel / (&=
Disaster occurred in Uttarakhand recently is due to

i Teare @ 2AFfes Rty 16e o Fize

(A) Cloud blast / (e 3F - (B) Flood / 3=}t
(C) Earthquake / gfsi@=et ' (D) Storm / 3G
Which of the following enhances soil fertility?

W7 Tl 3w wre ==

(A) Rotation of crops / 2t =37 32/

(B) Irrigation / (76 J<7

(C) Improved method of agriculture / T5® FfI &S
(D) New seed variety / T+ 4303 *Fe
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13.

14.

15.

16.

il

18.

1211

Which of the following is called natural biofertilizer?

ANeoa @HHE FoT (&1 W7

(A) Earthworm / @ (B) Fox / e

(C) Bacteria / T (D) Trees / 2

Terestrial part of the earth is called

RSER e R C R

(A) Biosphere / AcaifFERE (B) Lithosphere / FeiEmm
(C) Stratosphere A EiEl (D) Hydrosphere | DRI
The book “Silent Spring’ is written on the problem of

FReers Rete’ 326 @i et fofers et

(A) Plastic pollution / 2% w3l : (B) Water pollution / &1 W34

(C) Asbestos pollution / STIFCIHE 73 (D) Pesticide contamination / S5 7¢l

The scale that measures the magnitude of earthquake is

SRRT=R Wil Wi TE 2=

(A) Richter scale / otw ¢ (B) Celsius Scale / TR CF
(C) Fahrenheit scale / FIARIZD CF ‘ (D) Kelvin scale / Fafe CFe
In ecosystem the primary consumer is

e 2T ToreIe T

(A) Tiger / I (B) Deer / 2

(C) Bacteria / R (D) Peacock / T4

Which of the following is not responsible for cancer?

MNeoa @I TR &) AN 72

(A) Arsenic / SRS (B) Asbestos / TG

(C) Vitamin-B / feBifa=-R (D) Cigarette / FIiz0
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19,

20.

21.

22.

23.
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The salt-tolerant trees growing in shallow marine sediment are known as

TAFSIRR FRENG GRS #e FZTNeA (¥ AR Tl SITHd 0o

(A) Mangroves / SUIwae (B) Xerophytes / (SRS
(C) Epiphytes / af=rizb (D) Pyrophytes / *N2zariz5
What is the full form of CNG?

CNG-«7 2 71 ==

(A) Central Natural Gravity (B) Central Natural Gas

(C) Concentrated Natural Gas (D) Compressed Natural Gas

‘Green Revolution’ is associated with which of the following?

e Re frae @it 1 3o
(A) Agriculture / 33 (B) Sericulture / G*¥ 51¥
(C) Pisciculture / I 51¥ (D) Apiculture / (T-#{ies

The reason for ‘Minamata’ disease is due to

R @R IR 25
(A) Mercury / #lif® (B) Cadmium / Fefmls
(C) Lead / 5t (D) Zinc / wSt

Which one is utilized as a non-conventional source of energy in India?

57 A SRS SARS =T Bet RIE 97 T

(A) Gobar gas / (3137 *71% (B) Petrol / CIRIE
(C) Coal / F%@M (D) Blue Whale / &1 f&f%
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24. ‘Ozone layer’ is beneficial because it
S &7 1S e w1 @b
(A) releases oxygen / SfHEE Y& IR
(B) maintains temperature of air / I Ol foEe 3@
(C) protects from UV radiation / Setae afd (A 7! I
(D) protects from CFC/ CFC (3 %! ¥

25.  ‘Ozone layer’ lies above

—_

RCERCE LTk (o R TR SRS |
(A) 30 km / wo f&f¥ (B) 400 km / 8oo f&fi
(C) 50 km / @¢o fi . (D) 100 km / Soo f&fiii
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